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S BAD
2 IE2d
CHel: EASEAIY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
31 22,016,930 17,868,676 4,148,254
= 7,075,919
Jl 168,330
= 2,853,080
Al 11,919,601
Hoetaes 14,880,229 9,177,538 5,702,691
= 6,901,659
) 164,730
= 2,247,800
Al 5,566,040
EASEAMY 14,011,798 8,372,400 5,639,398
= 6,586,659
Jl 164,730
< 2,149,577
Al 5,110,832
SEEH 2F2c 70,420 27,000 43,420
201 fer= 3| 56,620 20,000 36,620
01 At 2|l 29,220 20,000 9,220
O ==H] 25,720
OZXJIHXt J =0ty &MY =53
4,00021%2,000CH 8,000
OHIEIIA K2AFE HSRRSl AAF 2
= 23,1002 *200CH 4,620
OEALSE SMEY R ARES 2
o 1,000, 00024431 3,000
OARA ZAZT 72
20,00024%1008t A 2,000
OBTIM A22X TH 7Y
100,000 * 102 1,000
OARE MERSE 2,000,000& 2,000
OARa SADI B 7Y
2,100,000& 2,100
OAlRd HAASSES Y
1,000,000 *32] 3,000
O=¢gtl 3,500
OHIEtA N2ZAY 2=
1,500,000 1,500
OEAHOE SHS XM
1,000,000 1,000
OEASE sM48Y g
1,000,000& 1,000
02 s3=gHl 24,400 0 24,400
032322 £ MA 4,400
OTIIX 8L HIIR=S
200,000« 12« 100 & 2,400




SN S
2 IE2d
CHel: EASEAIY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OUIMEX MNZAIY SHHE fERZ3
5003 +4,000 2,000
OAIEEH| |l 20,000
OTIIKSA =58HI| RA2=+
2,000,000 1074 20,000
03 A= &I 3,000 0 3,000
OJ|=H3L =28 AL 1,000,000& 1,000
O=t32 & At 2,000,000& 2,000
202 048l 5,800 7,000 1,200
01 2L AH| 5,800 7,000 21,200
OATY 227 S
580,000& 102 5,800
301 2eEN= 8,000 8,000
11 dALREIXIE S 8,000 8,000
OS2 2e2s (Ol S)
5,000,000& 5,000
OXHES &3 MOILE BOHAAES YT
Agelal) 100,000& *15& 1,500
OXHES E5 NOILE BIHAIHESZ
MAIE23l) 100,000& *15% 1,500
HIIESEX 700 NJA(EX) 2,600,000 960,000 1,640,000
= 1,000,000
== 480,000
Al 1,120,000
402 2I2E X201 & 2,600,000 960,000 1,640,000
= 1,000,000
= 480,000
Al 1,120,000
02 QI XHE AL E R (01X THE) 2,600,000 960,000 1,640,000
O |IsEX 70 A&
2,600,000,000& 2,600,000
= 1,000,000
= 480,000
Al 1,120,000
HIISHEX FOHKRAIS (EX) 4,400,000 2,760,000 1,640,000
= 2,800,000
= 480,000
Al 1,120,000
402 2IZtA=01d 4,400,000 2,760,000 1,640,000
= 2,800,000
= 480,000
Al 1,120,000
02 QI A2 AL E (01X THE) 4,400,000 2,760,000 1,640,000
OdDIa2xt 200 X
4,400,000,000& 4,400,000
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SN S
H: WIg2d
Eel: BASEAMY (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,800,000
=S 480,000
Al 1,120,000
HII0IEX BESME(EX) 32,000 36,000 24,000
= 16,000
Al 16,000
402 QI2F X201 & 32,000 36,000 24,000
= 16,000
Al 16,000
02 QI X2 AL EE(0IHTHE) 32,000 36,000 24,000
O&DII0IEX <0 K& 32,000,000 32,000
= 16,000
Al 16,000
HIIZED| BESME(EX) 160,000 100,000 60,000
= 80,000
= 24,000
Al 56,000
402 2IZtA=01d 160,000 100,000 60,000
= 80,000
= 24,000
Al 56,000
02 QIZHAH= AL B R (01 THE) 160,000 100,000 60,000
O&JI=2D] 201 K& 160,000,000 160,000
= 80,000
< 24,000
Al 56,000
HIINSI 2558 EX(EX) 1,140,000 360,000 780,000
= 342,000
Al 798,000
403 MR EHSAE01H 1,140,000 0 1,140,000
=S 342,000
Al 798,000
02 S7I2S0 U H=E 2 EAIEI 1,140,000 0 1,140,000
OHIINSK S5858I| £X
1, 140,000,000 1,140,000
< 342,000
Al 798,000
SUIRI BHSItA MZAS (ERIIHIH (EX) 4,670,420 2,400,000 2,270,420
= 2,335,210
[ 700,563
Al 1,634,647
301 LEIE NS 4,670,420 2,400,000 2,270,420
= 2,335,210




SN S
2 IE2d
CHel: EASEAIY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 700,563
Al 1,634,647
14 IIEt2 8= 4,670,420 2,400,000 2,210,420
O55= KA HA X2
2,496,000,000& 2,496,000
= 1,248,000
< 374,400
Al 873,600
O4s= R HA X2
1,600,000,000& 1,600,000
= 800,000
& 240,000
Al 560,000
OHEI A "X X 574,420,000& 574,420
= 287,210
< 86,163
Al 201,047
2RI HHEIA H2ZMS(=FZ R DPF)(EX) 231,000 495,000 264,000
= 115,500
< 34,650
Al 80,850
402 QI>F X201 & 231,000 495,000 264,000
= 115,500
== 34,650
Al 80,850
02 QI EASEX(0IETHR) 231,000 495,000 264,000
O-= KX OPF XA 231,000,000 231,000
= 115,500
=S 34,650
Al 80,850
-E—gct')jé%i} BHEOtA M2ZEAF (PMNox SAIKZE ZXI)( 30,000 75,000 /45,000
2x
= 15,000
s 4,500
Al 10,500
402 2I2FXH=201H 30,000 75,000 /45,000
= 15,000
= 4,500
Al 10,500
02 QI XHE AL E R (01X THE) 30,000 75,000 /45,000
OPM Nox SAIMZEXI XI&
30,000,000& 30,000
= 15,000
= 4,500
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SN S
2 IE2d
CHel: EASEAIY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 10,500
—i—)%”?évc—’rﬂ BHEOtA M2AHG (A1 A2 A ) (2 297,000 825,000 /528,000
ES
= 178,200
= 35,640
Al 83,160
402 212+ X201 & 297,000 825,000 528,000
= 178,200
= 35,640
Al 83,160
02 QI X2 AL E R (01X THE) 297,000 825,000 /528,000
OHED A XA K&
297,000,000 297,000
= 178,200
= 35,640
Al 83,160
%;’Zﬂ%%i} BIZOIA HMZAI (LPGEIE R AIT2el)(2 40,000 120,000 80,000
ES
= 20,000
= 6,000
Al 14,000
402 2IZtA=01d 40,000 120,000 80,000
= 20,000
= 6,000
Al 14,000
02 QI X2 AL EE(0IETHE) 40,000 120,000 80,000
OLPGet=2xt 72 X3 40,000,000& 40,000
= 20,000
< 6,000
Al 14,000
HEl0ISEXtes PG ME KR AE (2X) 35,000 140,000 105,000
= 17,500
[ 5,250
Al 12,250
402 QI2F X201 & 35,000 140,000 105,000
= 17,500
== 5,250
Al 12,250
02 QI ESASEZ(0IETHR) 35,000 140,000 105,000
OO0I2I0] SstAte LPaRH Met X
7,000,000 ~5CH 35,000
= 17,500
=S 5,250
Al 12,250




SN S
2 IE2d
chelr BHASEAIY (SH &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
IHEE M=sABde ESMH(ER) 10,000 10,000 0
= 6,000
== 1,200
Al 2,800
402 SI2EXH=201 S 10,000 10,000 0
= 6,000
=S 1,200
Al 2,800
02 RIINEASEZ(0IETHR) 10,000 10,000 0
OF=A2U 204 X2 (LE)
8,200,000 8,200
= 4,920
= 984
Al 2,296
OX=AEYY 2 N (HASE)
1,800,000 1,800
= 1,080
S 216
Al 504
S0t 2 HSIIAMZEX 852X AFE(EX) 6,498 0 6,498
= 3,249
=S 974
Al 2,275
301 22N = 6,498 0 6,498
= 3,249
= 974
Al 2,275
4Bt 23 6,498 0 6,498
0224 Hg N& 3,000,000 3,000
= 1,500
= 450
Al 1,050
oete 254l N 120,000 120
= 60
= 18
Al 42
OMMEEX 22l XI& 750,000 750
= 375
= 12
Al 263
OZ &2 & 22yl X3 448,000 448
2 224
= 67
Al 157




SN S
2 IE2d
CHel: EASEAIY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O22az X2 (PMNox SAIMZEXI)
1,800,000 1,800
= 900
[ 270
Al 630
Ot 2{dl X 380,000 380
= 190
S 57
Al 133
HIMHASZ AIEE 248014 MHAMHE(EX) 10,000 10,000 0
Jl 5,000
Al 5,000
201 fer23| 2,000 0 2,000
) 1,000
Al 1,000
03 A= 2,000 0 2,000
OOl 2T HEE S2 A
1,000,000 *22] 2,000
Jl 1,000
Al 1,000
301 EtE NS 8,000 10,000 22,000
Jl 4,000
Al 4,000
4Bt 2 a=S 8,000 10,000 /2,000
O0UXl A ALE 234
8,000,000 8,000
Jl 4,000
Al 4,000
EIAZOIEN It QIHIEIE XIS(EX) 174,000 54,100 119,900
7l 87,000
= 34,800
Al 52,200
301 Eet2 NS 174,000 54,100 119,900
Il 87,000
= 34,800
Al 52,200
14 DBt 2 a3 174,000 54,100 119,900
OEAZOIEN 23 174,000,000 174,000
Jl 87,000
= 34,800
Al 52,200
NSAt BEAHOIER QHMEE XS (EX) 5,460 300 5,160
) 2,730
Al 2,730
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SN S
2 IE2d
&Rl 28 g2 EEED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 29,840 5,840 24,000
O3] 26,200
OSZEHE AMBE BRFA
800,000 800
OHHEAMHE 229t W&
300,000 300
OHEAIE REIBE P
800,000 800
OtiEg4 848 S MH 300,000 300
OOtAZAIEY SEUIIRMN=E 58 =
= 6,000,000 *40H 2= 24,000
o=l 1,040
OBYUIE AR SEB(4,5t2)
200,000 x4 800
O GHE MAE HHE2(HK3)
240,000& 240
OERE 2,600
OBAAUE AIAT Ch&
1,000,000& 1,000
OAUBIIE YRFZ(ZA
800,000 800
OZEY R 800,000 800
202 04| 1,000 1,000
01 SLHoIH 1,000 1,000
o382 HRFA 1,000,000& 1,000
206 MH=Hl 5,250 5,250
01 MZH| 5,250 5,250
OHIEMNEY HESES 5,250
OANEHH =8I 7
1,000,000& 1,000
oO2gdisl 24 5 M+=8J| 7Y
1,000,000 1,000
OEZAZE HFAEI| 28
1,000,000 1,000
OHiEg A 3385 78
1,000,000& 1,000
OF=EYI| ZoHW AY
25,0002 +50H 1,250
272 SHAMHE LXAE SXXE(BX) 450,000 486,000 236,000
= 250,000
< 60,000
Al 140,000
402 QI>E X201 & 450,000 486,000 236,000
= 250,000
== 60,000
Al 140,000




M 23
Hu: (|22
el B g2l EER=E)
SA - ZE - B2(30) - HRAS of v e HIDE2
02 QI X2 AL EE(OIETHE) 450,000 486,000 /36,000
OAFD SHAIZE STAIL HX
450,000,000& 450,000
= 250,000
< 60,000
Al 140,000
OINIEIX M2ZALS 60,610 61,3% AT84
201 Ler=23 | 59,710 55,294 4,416
01 At2teltl 21,000 27,359 6,359
ER=last=tall 10,000
OVILE=E 58 9
500,000 * 187H 2 9,000
OO0IMIZA M2 E2= HH
1,000,000 1,000
O=gH| 1,000
OOIMIS X MZAY =&
1,000,000& 1,000
o2xz 10,000
OOIMIHA M2 &==Xt Xt
1,000,000 *10*1CH 10,000
02 S3=4gl 38,710 25,935 12,775
OAIEEH| |l 38,710
OOIMEXl 2t0] SEEH| 2| AIAE
3,460,000& 3,460
OOIMEZX 20l ZEH&EHl !X 2=
14,850,000 14,850
OHiEIIA 552 MSA 28He SHEAA
8 RA2 20,000,000 20,000
OOIMEIX dsS SH2S
400,000& 400
202 04l 900 1,100 A200
01 2LHoIH 900 1,100 A200
OUINEA M& A =& 900,000 900
Oelo] 532 BN 2,500 2,500 0
201 er2 3| 2,500 2,500
01 AtR2telHl 2,500 2,500
O eS| 2,500
OO0RI0] BED HANRAC 242
500,000 *57H 2 2,500
OIMIZHA 24 SHMP| TAF 2 2AI(EX) 130,000 130,000 0
= 65,000
Al 65,000
101 @124H| 101,440 96,400 5,040
= 50,720
Al 50,720




SN S
2 IE2d
&Rl 28 g2 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M ORIMZZ2NSE S 101,440 96,400 5,040
O0IHTHA 2 SHHP TAF X ZAE 2
g 25,360, 0003 »4H 101,440
= 50,720
Al 50,720
201 et 3| 28,560 32,600 A4,040
2 14,280
Al 14,280
01 Al 22IH| 28,560 27,600 960
OOIHIPIX Al & B2 Rher Ut
18,240,000 18,240
= 9,120
Al 9.120
ODIHIBIX ZA Sese TAF X2 2t
10,320,000 10,320
= 5,160
Al 5,160
Hleg=zyzd 27,000 27,000 0
201 Ler23 | 27,000 27,000
2 S5=24g4l 27,000 27,000
O2223LHA 7,000
OUIILYEH MW U =L M)|23
7,000,000& 7,000
OAIE2EH|=XH 20,000
OUDISYET HBT K|
20,000,000 20,000
Wy Z3Y 2H(EX) 51,334 51,334 0
= 15,400
Al 35,934
201 er2 3| 51,334 51,334 0
= 15,400
Al 35,934
02 S3=gHl 51,334 51,334 0
og s83Y 29¢ 51,334,000 51,334
== 15,400
Al 35,934
oIy AHEAN XAAMS(ExX) 76,077 0 76,077
= 22,823
Al 53,254
402 QI>F X201 & 76,077 0 76,077
= 22,823
Al 53,254
02 QI X2 AL E R (01X THE) 76,077 0 76,077

_11_




SN B
3 (P32 d
el B g2l EER=E)
SA - B SRIBH) - MRAR - BAS ofl &t A HIDEZ
RENEREEERINE
76,077,000& 76,077
= 22,823
Al 53,254
T2 F T2 6,532,111 7,783,515 A1,251,404
== 548,760
Al 5,983,351
o= 2 1,911,4% 3,541,305 1,629,809
= 548,760
Al 1,362,736
S =2 H 2| 370,661 244,272 126,389
101 @12A4H| 68,076 21,341 46,735
MU IIRINZZE2NSES 68,076 21,341 46,735
OMNREX & oE+E2E ZAl 22,692
oJlzs € =g 4282
22,691,90021%1%S 22,692
OB TA 2 2AT 29 45,384
07122 ¥ 4% 4H2E2
22,691,900 =2 45,384
201 fer= 3| 156,835 185,231 1,604
01 At 2|l 103,535 103,431 104
OEEES=G] 22,6%
O4+HRYEY ARFX 3,500, 0002 3,500
OJIEB2L Y Al AN 448
45,7002 +1503] 6.855
OYR4 B S $BAA 242
17,2003 »502] 860
OFMNEL 2P B A2
48, 180& 202 964
O=HMl OlSst&d Bl & HLES
90,0002 <200H 4 1,800
ONYsTA oSS
120,000& %17 2-#22] 4,080
OMeISIARZIAL T2 |x 4
== 328,000 122 3,936
OJfelsteXelAlE FA0H SESAM K
= 703+10,000 700
Ol =4| 1,040
o=k HEALE S5E(4,512)
800,000 800
OJIEER HHEAE HE8 55
240,000 240
O=¢gtl 4,800
Oo3SY HIFFA 3,456,000& 3,456
OJIEEL HEAIL OR2tets
1,344,000 1,344

_12_




M 23
B E Q2IBR
el Sl ELE 2c (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o2z 75,000
ORotat=EN OlSatE s Xt
5,000,000& 5,000
OXNEHEHM OlsSat&4a Xt
70,000,000 70,000
2 S5=24g4l 50,800 50,800 0
Oss2= £ HA 8,400
o= & St S 5,400,000& 5,400
OJHelot=XcIAlE 28 23
3,000,000 3,000
OAI2 ZHI= Xl 38,000
ORIAF LI AEEEl RS
38,000,000 38,000
Ot S| 4,400,000 4,400
03 &A=& 2,500 1,000 1,500
OAIH 22 & &AL 2,500,000& %12 2,500
202 04| 2,100 2,200 A100
01 =LHO LI 2,100 2,200 A100
05148 QB °oxd
2,100,000& 2,100
206 M=l 11,650 8,500 3,180
01 MZH| 11,650 8,500 3,150
0ZE3TY A54E 7Y
1,000,000& 1,000
O-2ZAE M+8 & &5 28 I S
- 4,850,000 4,850
OHA2YUAD YHSE 2
5,800,000& 5,800
207 ARl 42,000 38,000 4,000
01 1= 42,000 38,000 4,000
OBBINFAIL $BAAF 2 SUEZ B
22,000,000 *14! 22,000
OIEEMSHEXNS XEEH |2 29
20,000,000 *14{ 20,000
401 Al HIZL 201 90,000 19,000 71,000
01 Al&HI 90,000 19,000 71,000
O=SaEd ]2 10,000,000 10,000
O=d =R7dd 212 SSHFE EX
80,000,000 80,000
SISO eael At 84,635 78,760 5,875
101 e124d| 60,375 57,000 3,375
M ORNZZ2NSE S 60,375 57,000 3.375
024 TN KX
115,000 x7 & +75L 60,375
201 er2&| 16,970 16,970 0

_13_




A 2E

B Lm zpie)
&2l SlE=E2E 2t (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 15,170 15,170 0
O3] 4,600
OB ALUN ST P2EX
3,000,000 3,000
OIIEERZAl HEEE 7
600,000 600
OSE22XY 2| NRES 7Y
1,000,000 1,000
DERE 1,920
OBAAN AREZ
8,0002x33+80! 1,920
O2xz 8,650
ostZ+=8X MalEg=s MAH &Hl &xt
550,000% *1CH*3! 1,650
OBXSTRNY HY U MEHSIAL
=3 R 7,000,000 1CH 7,000
02 35244l 1,800 1,800 0
Oxgd2d |R5 72 150,000& «12& 1,800
202 04l 790 790
01 2LHoIH 790 790
O ZA g2 790,000 790
206 M=l 6,500 4,000 2,500
01 M=4l 6,500 4,000 2,500
0328 H=X2 Mg 7Y
10,0002 +250H 2,500
OZ=8X 22| M=H s 7
4,000,000 4,000
NEI2RS FHYSAEN(EX) 587,000 667,000 280,000
= 176,000
Al 411,000
401 AlZHIZ 2018 587,000 667,000 80,000
= 176,000
Al 411,000
01 A28l 583,302 662,798 AT9,49%6
OMU=FSA SHESA 2 A
583,302,000 583,302
< 174,891
Al 408,411
03 Al 20HHI 3,698 4,202 A504
OME == SHESA 2N
3,698,000& 3,698
= 1,109
Al 2,589
NEISAR BIOI2=2E LAY (MEALY) 560,000 1,560,000 1,000,000
== 280,000




M 23
B E Q2IBR
&2l SlE=E2E 2t (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 280,000
401 AIEHIX 20 560,000 1,560,000 1,000,000
=S 280,000
Al 280,000
01 AlZ8| 556,472 1,564,384 A997,912
OSHEEAMN N & Hol2=8tg =4
556,472,000 556,472
< 278,236
Al 278,236
03 Al&2CHY] 3,528 5,616 A2,088
OSHYSA EH L HlOIQ&8E X4
3,528,000& 3,528
= 1,764
Al 1,764
AFMZY KFAMS(EX) 309,200 254,130 55,070
[ 92,760
Al 216,440
307 glztol & 280,000 164,130 115,870
= 84,000
Al 196,000
02 2B HAIAE & 280,000 164,130 115,870
O%FMZ =R N3 A
280,000,000 280,000
= 84,000
Al 196,000
405 AtatE = 29,200 90,000 60,800
[ 8,760
Al 20,440
01 Tt =S F = 29,200 90,000 260,800
O2AF:ANE NSHAEX 7L
29,200,000 29,200
= 8,760
Al 20,440
FEEYA A 4,620,615 4,242,210 378,405
SHIIEAIE QARG 2E 4,620,615 4,242,210 378,405
201 ger=3| 217,058 40,160 176,898
01 AtR2tc|HI 217,058 40,160 176,898
g =l 1,375
OJI=E2kL XMelAlE AlZg DX M
95&1%5,000H 475
OEEIIZAE 2| MNRES 7Y
900,000 900
O=&H| 1,200

_15_




SA 3
B 4E Q2IBL
Cel: =EHEX ALY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ostdIIzAE 2=
100,000& * 12 1,200
012 242 214,483
OBIEBAIL %43 Jl&TE
84,769,000& 84,769
OZaXclAlg =Xcl Jlsdt
48,495,000 48,495
OIIE2L ZTHRIAIL £52| ISR
81,219,000 81,219
202 04| 1,584 1,584
01 =LHOHI 1,584 1,584
OFZII=ANE N=EH g2 S =&
1,584,000& 1,564
307 lztol & 4,399,565 4,198,058 201,507
05 2IMRIE =3 4,399,565 4,198,058 201,507
O== XMclAE 857,325,000 857,325
OJIE2R HMelAl& 3,542,240,000& 3,542,240
402 2I2F X201 & 2,408 2,408
03 DI2FSIEARH] 2,408 2,408
ETSS LIV E e =
1,720 %14,000=10% 2,408
AHSBEH 205,470 385,370 A179,900
Jl 3,600
S 200
Al 201,670
SHEHAMSY 205,470 385,370 A179,900
Jl 3,600
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101 @124H| 32,000 28,900 3,100
M ORIMZZ2NSE S 32,000 28,900 3,100
OOd=E 253 =Y 32,000
oJlZ2 € 288 S
2,000,000 «2H~8& 32,000
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01 AtR2t2|H] 4,000 3,000 1,000
Ot ==H] 4,000
OZUEHXI ALHMIA eIt 4,000,000 4,000
2 35234l 1,200 1,200 0
O T2 HFS1) M=
100,000& * 12 1,200
301 LEN= 35,000 35,000
14 0Bt 2a3 35,000 35,000
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&Pl 2 TANY (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOrdat==tXl RA2e E3 7Y
2,000,000& 2,000
OH=H dH=sZ3 s2= MA
1,500,000 1,500
02 s3=gHl 15,000 15,000 0
OAI2ZHI= X 15,000
O =N dEHsZA A2l =
12,000,000 12,000
OH=HM dHisadd 22l 352= & A
3,000,000 3,000
206 M=l 5,000 5,000
01 M= HI 5,000 5,000
OZ=H dEisZd 388 Mz 5,000
OOfdst 2Kl & MEEEZ S 238y
== 7 3,000,000& 3,000
OOl =Xl & dHEEE S NEHY
=& 7Y 2,000,000 2,000
AT PR 2 &H(EX) 4,000 0 4,000
Jl 3,600
= 200
Al 200
301 EtE NS 4,000 0 4,000
Jl 3,600
= 200
Al 200
14 IIEt2 83 4,000 0 4,000
OA Lo NI 24t 4,000,000& 4,000
) 3,600
< 200
Al 200
dEfeZ2H 377,520 444,553 A\67,033
= 174,260
= 56,320
Al 146,940
Oriss=2Es 377,520 444,553 A\67,033
= 174,260
= 56,320
Al 146,940
MERH MEIA RIS H HAAIE (2 X) 320,000 333,333 213,333
= 160,000
[ 48,000
Al 112,000
201 er23 | 8,000 6.820 1,180
= 4,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,200
Al 2,800
01 At2tltl 8,000 6,820 1,180
O +=EH| 8,000
OHE HIMEIA KIZH HS ERFA
8,000,000 8,000
= 4,000
= 1,200
Al 2,800
301 EtE2 NS 312,000 326,513 A14,513
= 156,000
= 46,800
Al 109,200
14 IIEt2 83 312,000 326,513 A14,513
OHYEHAIMBIA XISH A2 (TIHE &)
312,000,000 312,000
= 156,000
= 46,800
Al 109,200
OrdSSTIcHUY Al (EX) 8,520 44,220 A35,700
= 4,260
& 1,420
Al 2,840
402 QI”F X201 & 8,520 44,220 235,700
= 4,260
< 1,420
Al 2,840
02 QI T2 AL EE (01X THE) 8,520 44,220 A35,700
OOrYS=LIoH GIAIE 2 A&
8,520,000 8,520
= 4,260
== 1,420
Al 2,840
MERH wHUE EXI(EX) 20,000 20,000 0
= 10,000
== 6,000
Al 4,000
101 e124d| 15,000 15,000 0
= 7,500
= 4,500
Al 3,000
04 JIZtN2Z2XNSE+ 15,000 15,000 0
O nd= MH 12|
15,000,000 15,000
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Al 3,000
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= 1,500
= 900
Al 600
01 At 2|l 3,000 3,000 0
OJEH wtd= Hol= Xl
2,000,000& 2,000
= 1,000
= 600
Al 400
OMEI DS Six| E92 S
1,000,000 1,000
= 500
=S 300
Al 200
206 M=H| 2,000 2,000 0
= 1,000
= 600
Al 400
01 M=4l 2,000 2,000 0
OdEH nd= MAES 7
2,000,000 2,000
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OIS ETIH EAAL(EX) 9,000 27,000 18,000
& 900
Al 8,100
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= 900
Al 8,100
14 IIEt2 83 9,000 27,000 18,000
OOMES X2 S IF2
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= 900
Al 8,100
Ords=IoH 2aAE 20,000 20,000 0
301 EtE NS 20,000 20,000
4 JIE2 8= 20,000 20,000
O0dSE e S L2y
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SA C BB - HIRAY - BAS A HIm=S2t
HE2HE Z21) 21,600 77,700 A56,100
JlE23| ) 21,600 77,700 56,100
Jl2dd| (e ) 21,600 77,700 A56,100
202 O4H| 18,000 67,200 A49,200
01 =LHO4 b 18,000 67,200 A49,200
OS2 =E NI 100,000& x 15 =123 18,000
203 AR F=&lH| 3,600 10,500 6,900
M A2IHRFALI 3,600 10,500 26,900
Oz 300,000 =12 3,600
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